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Answer any FIVE questions : 5x5=25
[.  Solve (1+€%)ﬁ+(1—§]€xd}'=0

2. Solve (l—x’)%+2xy=xm

3. Solve (px-y)Xpy+x)=2p

4. Solve (D’-5D*+8D- 4)y=e¥

5. Solve (D2 +D+ l)y = x’

6. Solve (D’—zo+1)y=xsinx

) d?
: .7. . SOI-VG x’;{—2x(1+x)%1:2(1+x)=x3

8. Solve (xzD2 —xD+2)y= xlogx

PART - I

* Answer any FIVE questions, choosing atleast TWO question from each section : 5x10=50

SECTION - A
9. Solve (y‘ +2y)d!+(xy3 +2y* —4x)ajz =0

d
10. Solve xzy+y=y2 log x




13.

14,

15.

16.

17.

18.

] 2

)

3 ~ . . . . X - H——T [ where
. Show that the family of confocal conies —5—— = 1 is sell orthogonal, where
a-

+A b HA
A being parameter

Solve (xy)P? +(3x1 - 2y’)P —-6xy=0
Solve (D2 —4D+3)y =sin3x-cos2x

SECTION - B

Solve (D2 +9)y =cos’ x
Solve i}i-l—3d—y+2y=xe’r sinx |
dx® T dx

Solve (D2 - 4D+3)y =2xe” +3e” cos2x

Solve y +(I-cotx)y —ycotx=sin’ x given that y=¢ is a part of complementary
function

Solve [(x-1)D* - xD+1]y=(x-1)' by the method of variation of parameters
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14. Solve (D2—4D+3)y=sin3xc052x
d’y _dy _Qn3X s

15. Solve a—;—&;l’:’.y-ae sin2x

16. Solve (D%-2D+4)y=8(x’+e>+sin2x)

17. Solve Y"+4y=4tan2x by the method of variation of parameters

dz}' dy .
18. Solve T ot (1-cotx)y=e’sinx

e

r I B.Sc.,Degree Examinations, Oct/Nov 2017
oy : = (At the end of 15t Semester)
N Regular (2017 batch), Supplementary (2016 batch)
MATHEMATICS Paper - I
(Differential Equations)
Date: 27.10.2017 AN Max Marks:75
Duration: 3hrs
Answer any five Questions, each Question carries Five marks 5X5M =25M
1. Solve (1+y})dx=(tany-x)dy
2. Solve x 2 = yxe¥
) dx
) 3. Solve xp’=a+bp
= 4. Solve (Dz-3D+2)y=cos hx
5. Solve (D*+2D+1)y=x cos x
6. Solve (D*-4D+4)y=x’
7. Solve( x’D’-xD+2)y=x log x
2d%y dy _J3
8. Solvex P -2x(1+x)a;+2(1+x)—x
Part-ll
Answers any five Questions. Choosing atleast two Questions from each section .each
question carries 10 marks. {5X10M=50M)
Section-A '
9. Solve xzydx—(x3+y3)dy=0
10. Solve (y4+2y)dx+(xy3+2y“—4x}dy=0
.,, 11. Find the orthogonal Trajectories of the family of curves r'sinng=a",Where ‘a’ is
parameter
12. Solve y+px=p1x‘l
13. Solve (D*-5D+6)y=xe™
Section-B
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PART I
“‘-. Answer any FIVE Questions, each question carries FIVE marks. 5X5M=25M
£
-

1. Solve (¥ + 1)cosxdx + e”sinxdy = 0 Fodod.
2. Solve x:—z +2y — x%logx = 0 AOocod.

3. Solve (py + x)(px — y) = 2p FBowsod.

4. Solve (D3 — 7D + 6)y = e** FBodod.

5. Solve (D? — 2D + 1)y = x%€* ool
d’y dy .
6. Solve -5 ———2y =sin2x FrBowod.

7. Solve x?y" — 2x(1 + x)y’ + 2(1 + x)y = x* FBodod.

8. Solve (D% — 2D)y = e* sinx, by the method of variation of parameters.

s DT BOVATDY DEED &0 (D? — 2D)y = e* sinx FOotod.



. sstions cach section.
Answer any FIVE questions. Choosing at least TWO questions from 5X10M=50M
Each question carries 10 marks.

SECTION-A
9. Solve Y(xy + 2x%y?)dx + x(xy - xzyz)dy =0 JOocdod.

10. Solve (x + 1);% +1=e"Y  Also find the solution for which y(0)=0

(x+1) ;-y T1=e™ 0 Focod. y(0)=0 ettt dree e 8208y 0d

: 2 oz
11.Find the orthogonal trajectories of the family of curves x3 + y3 = a3,

where‘a’ is a parameter?

DTS &0) X T4 J’g = a5 OF0 DHL0ErS VoRRBE ST HEvoLo Bg),
rof.bs‘,dra"f‘l)‘)_sm?bod.

12.50lve y?logy = xXpy + p? FBosed.

2
13. Solve3x? g;’f + x% TY = x Fdosod.

SECTION-B
14. Solve (D2 + 9y = cos3x FBodod.

15. Solve(D? - 2D + 4)y =8(x? + &% + sin2x) FBocsod.
16.Solve (D* + 2p2 + 1Dy =x2cosx ¥Botod.

dz}’ _ d_y__ — .3
17. Solve x=+x-2) 7~ 2V =13 FBosod.

18. Solve (D2 + %)y = tan qx F&osod.
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